it E M FFHISHEIRAE

HEBEI HAILAN BEARING MANUFACTURE CO.,LTD

k. SAdEAIEEEAAE I ERX 054901
ADD: Hexi Town Industrial Park, Linxi County, Hebei,China

H135/TEL: 0086-319-8542274(Factory)  0086-635-2970300(Int'l Dept)
0086-319-8542291(Factory)  0086-635-2970399(Int'l Dept)
0086-319-3725658(Factory)

fEE/FAX: 0086-319-8542290(Factory) ~ 0086-635-2970355(Int' Dept)

R 11t/Web: www.hhbbearing.com
www.ok—bearing.com
E-mail: fkd.services @ ok—bearing.com

IBIE

Ball Bearing Units

0l 108 5 ikl SR IR 2ol

HEBEI HAILAN BEARING MANUFACTURE CO.,LTD



nalfEfr | Company profile

WALBEHAFISEERAR (EMERBHMAFRAR, SIEF1988%F ), fFAitiEmiETTIEXR,
BB, XERE, ARS0ERETFEFINKEMBIRMZRMABAF L, EF-NHEENA, SPEIIKET
B ARG EEMEOEmZ—,

ARPERIS00RAN, EXTERRAASORA, 27 H#65000m", |~ FEEEH A338000m°, HHEBIHNK
RS MAREE T, FHABS00RE, MMl ZNAT&EEDLE. T LM, TENW. R
. R PRl A, BIRE

EN AR 2EEISO9001: 2015 REERA RIAIE, KAEMRRERAR, UEENHIETZMARLRELEE
FE, ArKAPRUEERES M. HENZEGEESE, HOZERSNERMMK, SittFEZMEIEMRE
BB TKBHSEEIEXRR, EENIMNESL TRAWEHMNEMRSEE,

BIEHMAKXNES “B%E. BB, &1, R ez, BRUANAR, EA51#TLAL, BERT
Bill, RERIERR, RtV RESRN, ARLARTHBBEEFESENIIN KAREREE, HEEZRE!

EEMNERIR, &1E. BB EEFH#E | BHERRERNAIENR!

Hebei Hailan Bearing Manufacture Co.,Ltd ( was originally founded in 1988 as Xingtai Honghai Bearing Manufacture
Co.,Ltd) is one of the Chinese bearing manufacturers and exporters . It is the enterprise of well-know trademark of Hebei
and high quality products of Hebei is located in the Hometown of Bearing in the LinXi county, HeBei Province, North of

China,. We devote ourselves to research & development, production, promotion and application of Pillow block bearing and
all other kinds of bearings .

There are more than 500 employees , Including 50 Technicians And Engineers in our group. And the area of land is
100000sgm ( Plant is 65000+sqm ) , We have Pillow Block Bearings automatic production line, automatic inspection line
and Bearing Housing production line. We obedience to the operation philosophy of“differentiation kinds in product, techno-
logical modernization, manufactural professionalization, quality top grade, cost cheaper”, We have an annual production and
sales of over 19 million pieces of Pillow Block Bearings , Deep Groove Ball Bearings, Taper Roller Bearings and all other
kinds of bearings , our products are widely used in various types of transmission equipment, mining machinery, engineering
machinery, textile machinery, agricultural machinery, forestry machinery, construction machinery as so on .

Our company has passed 1SO9001:2015 quality management system certification. All of our production line adopt advanced
specialized equipment, And over 90% of products were made by automatic equipment . Also we adopts the international
standards for technical quality standards, advanced manufacturing processes and modern technology and management phi-
losophy to provide customers with high quality products. Our three registered brand FE,FKD,HHB were well known in the
over sea market . Over 90% of the products are exported to more than 68 countries and regions in the world. As one of the
Chinese bearing exported enterprises, We have built the long-term strategic partnership with lots of customers around the
world, establishing the strong marketing network and service platform in the domestic and over sea market.

Hailan bearing strongly advocates the corporate culture of "unity, mutual assistance, cooperation and win-win", adheres to
the people-oriented Philosophy , and focuses on the introduction of professionals, strengthens staff training, improves staff
quality, and enhances the competitiveness of the enterprise. All employees of the company sincerely hope to cooperate with
all the clients in good faith to promote the common development !

Let's make progress together on the way of acquaintance, cooperation, successed !

Your demand is our pursuit!

‘we are single-minded, so we are speciality.

S B



RV I3
Pillow Blocks
b a
waAERE| 0B IR (X g R 2
ey 7| Shaft Dia. : TN ; Bearing |Housing |. =
Bearing Unit q Dimensions (mm) Bolt Used| 'y, No Weight
No. (in.) (mm) [ h a e b s, s, g W Bi n (mm) [(in.) (kg)
UCP201 UCP201
08 |1 12 [30.2| 127 | 96 | 38 | 19 | 13 | 15 | 62 | 31 |12.7 |M10[3/8] “50ig | P201 | 0.61
UCP202 UCP202
503-10 |5/8 15 [30.2] 127 | 96 | 38 | 19 [ 13 [ 15 | 62 | 31 |12.7 [ MO [3/8] " 50510 | P202 | 0.59
UCP203 UCP203
sos-11 |11/16 | 17 [30.2] 127 | 96 | 38 | 19 [ 13 | 15 | 62 | 31 |12.7 |mio [3/8] "5 ) | P03 | 0.58
UCP204 UCP204
SR e 20 [33.3| 127 | 96 | 38 | 19 | 13 | 15 | 65 | 31 |12.7 | M0 |3/8| “F509 ., | P204 | 0.66
UCP205-14 |7/8 UCP205-14
382‘15 15/16 | 95 |36.5| 140 | 105 | 38 | 19 | 13 | 16 | 70 | 341|143 |mo|3/8 382‘15 P205 | 0.81
205-16 |1 205-16
UCP206-18 |1 1/8 UCP206-18
206 206
s06-19 |13/16 | 30 [429] 165 [ 121 | 48 | 20 | 17 | 18 | 83 | 381|159 |Mi4[1/2] 502 0| P26 | 1.25
206-20 |1 1/4 206-20
UCP207-20 |1 1/4 UCP207-20
207-21 |1 5/16 207-21
38?22 13/8 35 |47.6| 167 | 126 | 48 21 17 19 92 42.9 | 17.5 | M14 | 1/2 38;*22 P207 1.58
207-23 |1 7/16 207-23
UCP208-24 |1 1/2 UCP208-24
208-25 [19/16 | 40 |49.2| 184 | 136 | 54 | 21 | 17 | 19 | 98 | 49.2 | 19.0 | w4 |1/2] 20825 | P208 | 1.9
208 208
UCP209-26 |1 1/5/3 UCP209-26
209-27 |1 11/16 209-27
50958 |13/a | 45 |54 |19 | 146 | 54 | 21 | 17 | 20 | 106 | 49.2 | 19.0 |14 |1/2|  Z0OTEL | P09 | 2.14
209 209
UCP209-30 |1 7/8 UCP209-30
%%8‘31 L 15/16| 50 |57.2| 206 | 159 | 60 | 25 | 20 | 22 | 112 | 51.6 | 19.0 | m16 |5/8 3%8‘31 P210 | 2.67
210-32 |2 210-32
UCP211-32 |2 UCP211-32
%{}‘34 21/8 | 55 |e3.5| 219 | 172 | 60 | 25 | 20 | 22 | 126 | 55.6 | 22.2 | w16 |5/8 gﬂ‘“ P211 | 3.3
211-35 |2 3/16 211-35
UCP212-36 |2 1/4 UCP212-36
212 212
212 8 o1 |60 [698] 241 | 186 | 70 | 25 | 20 | 25 | 137 | 651|254 |wi6|5/8] 212 | P21z | 4.9
212-39 |2 7/16 212-39
ucrz13=40 12 12 | 65 |76.2| 265 | 203 | 70 | 20 | 25 | 27 | 150 | 65.1 | 25.4 | m20 |3/4 UCPZIS™0 | P13 | 5.4
Ucpgﬁ‘“ 23/4 | 70 |79.4| 266 | 210 | 72 | 30 | 25 | 27 | 156 | 74.6 | 30.2 | yo0 |3/4 UCP%E—M P214 | 6.2
UCP215 UcP215
215-47 |2 15/16| 75 |82.6| 275 | 217 | 74 | 30 | 25 | 28 | 163 | 77.8 | 33.3 | o |3/4|  215-47 | P215 | 7.16
215-48 |3 215-48
UCP216 UCP216
Sle50 |31/ | 80 [88.9] 202 | 232 | 78 | 28 | 25 | 30 | 175 | 82.6 | 33.3 | yzo [3/4| 505 | P216 | 8.1
UCP217-52 |3 1/4 UCP217-52
217 85 |95.2( 310 | 247 | 83 | 30 | 25 | 32 | 187 | 85.7 | 34.1 | oo |3/4| 217 P217 | 9.81
217-55 |3 7/16 217-55
UCP218-86 |3 1/2 | o0 |1o1.6| 327 | 262 | 88 | 30 | 27 | 34 | 200 | 96.0 | 30.7 |y |7/8| UPZIES6 | pag | 122




A7 2 R
Pillow Blocks
b = 22 -

e I S () ! %
Tﬁ@{fm%ﬁﬁ Shaft Dia. ./R‘. = R R Bearing |Housing |~
Bearing Unit 1 Dimensions (mm) Bolt Used No No Weight

No. (in.) (mm) h a e b S, s, g W Bi n (mm) [(in.) (kg)
UCPX05 UCX05

X05-14 |7/8 25 |44.4] 159 | 119 | 51 | 25 | 17 | 18 85 | 381|159 | M4 |1/2|  X05-14 | PX05 | 1.50

X05-16 |1 X05-16
UCPX06 , UCX06

X06-18 |1 1/8 X06-18

oo |1 a3 | 30 |4r.6| 175 | 127 | 57 | 25 | 17 | 20 o4 |42.9 | 17.5 w4 |1/2|  XOO7I8 | pxos | 2.00

X06-20 |1 1/4 X06-20
UCPX07-20 |1 1/4 UCX07-20

§8§‘22 13/8 | 35 |54.0| 203|144 | 57 | 30 | 17 | 22 | 105 | 49.2 | 19.0 | M14 |1/2 %‘22 PX07 | 2.70

X07-23 |1 7/16 X07-23
UCP§8§‘24 V12 | 40 |58.7] 222 | 156 | 67 | 32 | 20 | 26 | 113 | 49.2 | 19.0 | mi6 |5/8 UC§8§‘24 PX08 | 3.50
UCPX09-26 |1 5/8 UCX09-26

X09-27 |1 11/16 X09-27

e 45 (587|222 | 156 | 67 | 33 | 20 | 26 | 116 | 516 | 19.0 | Mi6 [5/8| X921 | pxog | 3.60

X09 X09
UCPX10-31 |1 15/16 UCX10-31

X10 50 |63.5| 241 | 171 | 73 | 36 | 20 | 27 | 126 | 55.6 | 22.2 | w16 |5/8]  X10 PX10 | 4.40

X10-32 |2 X10-32
UCPX11 UCX11

X11-32 |2 X11-32

X113 |3 3/16 | 55 |69-8| 260 | 184 | 79 | 36 | 25 | 30 | 139 | 65.1 | 25.4 [M20|3/4| §; ;732 | PXIL | 6.30

X11-36 |2 1/4 X11-36
UCPX12 , UCX12

X12-36 |2 1/4 X12-36

Xio e |5 4/8 | 60 |76.2| 286 | 203 | 83 | 41 | 25 | 32 | 152 | 65.1 | 25.4 | M20 |3/4| 4780 | PKIZ | 7.40

X12-39 |2 7/16 X12-39
UCP%?‘“’ 2 1/2 65 |76.2| 286 | 203 | 83 | 41 | 25 | 32 | 154 | 74.6 | 30.2 | M20 |3/4 UC§}§*4° PX13 | 7.70
Ucpﬂi“l‘l 23/4 70 |88.9| 330 | 229 | 89 | 51 | 27 | 35 171 | 77.8 | 33.3 | M22 | 7/8 chj““l PX14 | 10.60
UCPX15 UCX15

X15-47 |2 15/16| 75 |88.9| 330 | 229 | 89 | 51 | 27 | 35 | 175 | 82.6 | 33.3 | M22 [7/8|  x15-47 | Px15 | 11.10

X15-48 |3 X15-48
UCPX16 UCX16

Xi6-s0 |3 1/8 | 80 1016|381 | 283 | 102 | 59 | 27 | 42 | 195 |85.7 |34.1 [M22 |7/8| Ve o0 | PXI6 | 16.20
UCPX17 Ucx17

1752 |3 154 | 8 |l0L6| 381|283 | 102 | 60 | 27 | 45 | 200 |96.0 |39.7 |M22 |7/8] VRIT | Pui7 | 16.50
Ucpﬁg‘% 31/2 | 90 |1o1.6| 381 | 283 | 111 | 60 | 27 | 45 | 204 |104.0| 42.9 |m22 |7/8 chg‘% PX18 | 18.00
UCPX120 UCX120

Yooded |a 100 |127.0| 432 | 337 | 121 | 64 | 33 | 52 | 245 |117.5| 49.2 | m27 | 1 Xoalsy | Px20 | 31.80

2

BV
Pillow Blocks
a -—

S g 1% A =
AR LD : SMERGE (ZK) B B | Beari i "
! . Shaft Dia. ; : earing |Housing |. .
Bearing Unit i Dimensions (mm) Bolt Used| 'y, Yo | Weight

No. (in) [ @m | h a e b s, 5\ g W Bi n | (m) [(in.) (kg)
UCP305 UC305
305-14 | 7/8 25 | 45 | 175 | 132 | 45 | 20 | 17 | 16 | 85 | 38 15 | M4 |1/2| 305-14 | P305 | 1.28
305-16 |1 305-16
UCP306-18 |1 1/8 UC306-18
306 30 | 50 | 180 | 140 | 50 | 20 | 17 | 18 | 95 | 43 17 |mia 12| 306 P306 | 1.72
306-19 |1 3/16 306-19
UCP307-20 |1 1/4 UC307-20
385‘21 13/8 | 35 | 56 [ 210 | 160 | 56 | 25 | 17 | 20 | 106 | 48 19 | M4 |1/2 gg;‘m P307 | 2.33
307-23 |1 7/16 307-23
UCP308-24 |1 1/2 | 49 | 60 | 220 | 170 | 60 | 27 | 17 | 22 | 116 | 52 19 | M4 |1/2 | UC308=24 | pgog | 3 01
308 308
UCP309-28 | 13/4 | 45 | 67 | 245 | 190 | 67 | 30 | 20 | 24 | 129 | 57 22 | w6 |5/8 | UC309-28 | p3og | 3.77
309 309
Ucpgig’?’l LI5/16| 50 | 75 | 275 | 212 | 75 | 35 | 20 | 27 | 143 | 61 22 | M16 | 5/8 chig’m P310 | 5.47
Ucpg}}—w 2 55 | 80 | 310 | 236 | 80 | 38 | 20 | 30 | 154 | e6 25 | M16 |5/8 chﬁ’” P311 | 6.83
UCP312 Uc312
60 | 85 | 330 | 250 | 85 | 38 | 25 | 32 | 165 | 71 26 | M20 | 3/4 p312 | 8.15
312-36 |2 1/4 / 312-36
Ucpgig—zxo 21/2 | 65 | 90 | 340 | 260 | 90 | 38 | 25 | 35 | 176 | 75 30 | M20 | 3/4 UCg}g"w P313 | 9.41
Ucpgﬁ’“ 23/4 | 70 | 95 | 360 | 280 | 90 | 40 | 27 | 35 | 187 | 78 33 | M22 | 7/8 chii’“ P314 | 11.08
UCP315 uc3is
315-47 |2 15/16| 75 | 100 | 380 | 290 | 100 | 40 | 27 | 35 | 198 | s2 | 32 |wm22|7/8| 315-47 | P315 | 13.8
315-48 |3 315-48
UCP316 Uc316
Slo-so |3 158 | 80 | 106 | 400 | 300 | 110 | 40 | 27 | 40 | 210 | 86 | 34 M2 |78| 5P . | P36 | 16.2
UCP317 uc317
2 | 420 | 32 22 2 1 19.2
s lza | B |1 0|32 |110] 45 | 33 | 40 0| 9 | 40 |[m27]| 1 sy | 31T |19
Ucpgig"% 312 | 90 | 118 | 430 | 330 | 110 | 45 | 33 | 45 | 235 | 96 | 40 |wmer| 1 chig‘% P318 | 21.1
UCP319 95 | 125 | 470 | 360 | 120 | 50 | 36 | 45 | 250 | 103 | 41 |wm30 |118] UC319 P319 | 28.2
UCP320 UC320
et 100 | 140 | 490 | 380 | 120 | 50 | 36 | 50 | 275 | los | 42 |wso 118 T30 | P320 | 34.8
UCP322 110 | 150 | 520 | 400 | 140 | 55 | 40 | 50 | 206 | 117 | 46 | w33 |11/4| ucs322 p322 | 43.2
UCP324 120 | 160 | 570 | 450 | 140 | 55 | 40 | 50 | 316 | 126 | 51 |M33 |11/4| uCc324 P324 | 54.0
UCP326 130 | 180 | 600 | 480 | 140 | 55 | 40 | 50 | 355 | 135 | 54 |M33 |114| uCc326 P326 | 72.1
UCP328 140 | 200 | 620 | 500 | 140 | 55 | 40 | 60 | 393 | 145 | 59 |wM33 |11/4| UC328 p328 | 91.2
3>



Flange Units(Square)

2|

J7 R
Flange Units(Square)
T T SR ) B B . e | R
iy B AR AR Shaft Dia UZARRS = 2 Bearing |Housing |~
Bearing Unit I Dimensions (mm) Bolt Used No Yo Weight
No. (in.) (mm) a e i g 1 s 7 Bi n (mm) |(in.) (kg)
UCF201 Uc201
4 S 12 | 8 | 64 15 12 255 | 12 333 | 31 |12.7 [wio|3/8] U0 ] F201 | 0.59
UCF202 UC202
2 6 |sm 15| 8 | 64 15 12 | 255 | 12 |33.3 | 31 |12.7 [wo|3/8| U202 1 F02 | 0.57
UCF203 UC203
N e N 15 12 | 255 | 12 |33.3 | 31 |12.7 [ w0 |3/8| U208 | F203 | 0.56
UCF204-12 | 3/4 20 | 86 64 15 12 | 25.5 | 12 [333| 31 | 12.7 |mi0|3/8| UC204=12 | pogq | 0.58
204 204
UCF205-14 |7/8 UC205-14
382’15 1516 1 o5 | 95 | 70 16 14 | 21 12 | 35.8 | 34.1| 14.3 | M10 |3/8 %gg% F205 | 0.8
205-16 |1 205-16
UCF206-18 |1 1/8 UC206-18
206 206
206 10 |1/ | 30 | 108 | 8 18 14 | 31 12 | 40.2 | 381|159 | Mo |3/8| 208 1 F206 | 1.12
206-20 |1 1/4 206-20
UCF207-20 |1 1/4 UC207-20
207-21 |1 5/16 207-21
20722 |13/8 | 35 | 117 | 92 19 | 16 | 34 14 |44.4 | 42.9 | 17.5 | M2 |7/16)  207-22 | F207 | 1.46
207 207
207-23 |1 7/16 207-23
UCF208-24 |1 1/2 UC208-24
208-25 |19/16 | 40 | 130 | 102 | 21 16 | 36 16 | 512 49.2 | 19.0 | M4 |1/2| 208-25 | F208 | 1.84
208 208
UCF209-26 |1 5/8 UC209-26
209-27 |1 11/16 209-27
A2 |1 a6l 45 | 1s7 | 105 | 22 18 | 38 16 | 52.2 | 49.2 | 19.0 | w4 |1/2| 209720 | F209 | 2.15
209 209
UCF210-30 |1 7/8 UC210-30
318*31 1 15/16| 50 | 143 | 111 22 18 40 16 | 54.6 | 51.6 | 19.0 | M14 |1/2 %%8*31 F210 | 2.42
210-32 |2 210-32
UCF211-32 |2 Uc211-32
%}%_34 21/8 | 55 | 162 | 130 | 25 2 | 43 19 | 58.4 | 55.6 | 22.2 | w16 |5/8 gﬂﬂ F211 | 3.31
211-35 |2 3/16 211-35
UCF212-32 |2 1/4 UC212-32
212 212
212 |2 | 60| 175 | 143 | 20 | 20 | 48 19 | 68.7 | 651|254 |Mi6|5/8 212 | 212 | 4.28
212-39 |2 7/16 212-39
yckzI3=40 )2 12 | 65 | 187 | 149 | 30 | 20 | 50 19 | 69.7 | 65.1 | 25.4 | w6 |5/8| "513740 | a1z | 4.9
UCF%%?{‘M 23/4 | 70 | 193 | 152 | 31 24 | 54 19 | 75.4 | 74.6 | 30.2 | 16 |5/8 chﬁ’“ F214 | 5.85
UCF215 uc215
215-47 |2 15/16| 75 | 200 | 159 | 34 | 24 | 56 19 | 785 | 77.8| 33.3 | M6 [5/8| 215-47 | F215 | 6.91
215-48 |3 215-48
UCF216 Uc216
1650 |31s8 | 80 | 208 | 165 | 34 | 22 | 56 | 23 | 78 | 833|333 |M20|3/4| 51050 | F216 | 7.5
UCF%};‘M 31/4 | g5 | 220 | 175 | 36 2% | 63 23 | 87.6 | 85.7 | 34.1 | M20 |3/4 chg‘” F217 | 9.66
UCF%}%‘E’G 312 | 90 | 235 | 187 | 40 | 26 | 68 23 | 96.3 | 96.0 | 39.7 | M20 |3/4 chig‘% F218 | 12.06

<4

o
wEaERE| SR (B Bk - g
sy 7| Shaft Dia. . S B Bearing |Housing | .-~
Bearing Unit q Dimensions (mm) Bolt Used No No Weight
No. (in.) (m) a e i g 1 s 7 Bi n (mm) [(in.) (kg)
UCFX05 UCX05
2 1 7 1 1 30 12 | 40.2 1| 159 | Mt FX L1
oets | 5 08 3 8 3 0 38 9 [0 |3/8 'O 05
UCFX06 UCX06
X06-19 |1 3/16 | 30 | 117 | 92 19 14 34 16 | 44.4 | 42.9 | 17.5 | M14 |1/2| X06-19 | FX05 | 1.4
X06-20 |1 1/4 X06-20
UCFX07-20 |1 1/4 UCX07-20
ﬁg;‘w 13/8 | 35 | 130 | 102 | 21 14 38 16 | 5.2 |49.2 | 19.0 | M14 |1/2 ﬁg;‘% FX07 | 1.9
X07-23 |1 7/16 X07-23
UCFX08-24 |1 1/2 | 4o | 137 | 105 | 22 14 | 40 19 | 52.2 |49.2 | 19.0 | w16 |5/8]| UX0824 | pyog | 2.1
X08 X08
UCFX09-26 |1 5/8 UCX09-26
X09-27 |1 11/16| 45 | 143 | 111 23 14 40 19 | 55.6 | 51.6 | 19.0 | M6 |5/8| X09-27 | Fxo9 2.5
X09-28 |1 3/4 X09-28
X09 X09
UCFX10-30 |1 7/8 UCX10-30
);18‘31 115/16| 50 | 162 | 130 | 26 20 44 19 | 59.4 | 556|222 | M6 |58 ﬁg‘:ﬂ FX10 | 3.6
X10-32 |2 X10-32
UCFX11 ucxi1
X11-34 |2 1/8 X11-34
Mise |35/ | 55 | 175 | 143 | 29 20 49 19 | 68.7 | 651 |25.4 |MI6|5/8| TS0 | FXIL | 4.7
X11-36 |2 1/4 X11-36
UCFX12-36 |2 1/4 UCX12-36
X12 X12
60 | 187 | 149 | 34 21 59 19 | 73.7 [ 651 | 25.4 | M16 |5/8 FX12 | 5.5
X12-38 |2 3/8 / X12-38
X12-39 |2 7/16 X12-39
UCFX13-40 |2 1/2 65 | 187 | 149 34 21 59 19 | 78.4 | 74.6 | 30.2 | M16 |5/8| UCXI3-40 | pxi3 | 5.9
X13 X13
”CFﬁi‘“ 23/4 |90 | 197 | 152 | 37 | 24 | 60 | 23 | 815|778 | 333 M0 |34 Uciﬁ‘“ FX14 | 7.3
UCFX15 UCX15
X15-47 |2 15/16| 75 | 197 | 152 | 40 24 68 23 | 89.3 | 82.6 | 33.3 | M20 [3/4| X15-47 | Fx15 | 8.0
X15-48 |3 X15-48
UCFX16 UCX16
xi6-50 |3 1/8 | 80 | 214 | 171 | 40 24 70 23 | 91.6 | 85.7 | 34.1 | M20 (3/4| yl ey | FXI6 | 9.8
UCFX17 uex17
X752 |31/4 | 85 | 214 | 171 | 40 24 70 23 | 96.3 | 96.0 | 39.7 | M20 [3/4| ~yj7sp | FXIT | 10.5
UCFQS*% 312 oo | a1a | 171 | 45 24 76 23 |106.1104.0 | 42.9 | M20 |3/4 Ucﬁgﬁe FX18 | 11.2
UCFX20 UCX20
2064 |4 100 | 268 | 211 | 59 31 97 31 [127.3|117.5 | 49.2 | m27 | 1 o064 | FX20 | 181
53



J B e UCF 300 (heavy-duty)
: z 5 a
Flange Units(Square) Drill ¢
ale
N iH'l '?é 7 B % B
WHHANS | qhart Dia 5'Ifﬁ5)\lj(%7{<) ®R Bearing |Housing L
Bearing Unit . Dimensions (mm) Bolt Used|  y,. No, | Veight
No. (in.) | (mm) a e i g 1 S 7 Bi n (mm) [(in.) (ke)
UCF305 UC305
s | 25 | 110 | 80 16 13 | 29 16 | 39 | 38 15 |14 |2| Y00 | 305 | 120
UCF306-18 |1 1/8 UC306-18
306 30 | 125 | 95 18 15 | 32 6 | 44 | 43 17 |14 [12] 308 306 1.8
306-19 |1 3/16 306-19
UCF307-20 |1 1/4 UC307-20
307-22 |1 3/8 35 | 135 | 100 | 20 16 36 19 49 48 19 | 16 |58 307-22 307 | 2.20
307 307
307-23 |1 7/16 307-23
UCF308-24 |1 1/2 | 4o | 150 | 112 | 23 | 17 | 40 | 19 | 56 | 52 | 19 | 16 |58 | UC30824 | 456 | 3
308 308
UCF309-28 |\13/4 | 45 | 160 | 125 | 25 | 18 | 44 | 19 | 60 | 57 | 22 | 16 |58 | UC30928 | 509 | 338
309 309
UCF310-31 |1 15/16 UC310-31
310 50 | 175 | 132 | 28 19 | 48 | 23 | 67 | 61 | 22 |20 |[34] 310 310 | 4.9
310-32 |2 310-32
UCF::’)H*Z ‘ 55 | 185 | 140 | 30 | 20 | 52 | 23 | 71 | 66 | 25 | 20 |3 chﬁ’?’z 311 | 5.6
UCF312 Uc312
Sozs |2 14 |60 | 195 [ 150 | 83 | 22 | 56 | 28 | 7 | T 26 |20 [34] 55 . | 312 | 6.8
UCF313-40 12 1/2 | 65 | 908 | 166 | 33 | 22 | 58 | 23 | 78 | 75 | 30 | 20 [ | VB340 | 513 | 7.8
313 313
UCF314-44 | 3/4 70 | 226 | 178 | 36 25 | 61 25 81 78 33 | 22 |7 | UCSl4—44 | g9y 9.8
314 314
UCF315 Uc315
315-47 |2 15/16| 75 | 236 | 184 | 39 | 25 | e6 | 25 | 8 | 82 | 32 |22 || 315447 | 315 | 1L6
315-48 |3 315-48
UCF316 uc316
80 | 250 | 196 | 39 | 27 | e8 | 31 91 86 | 34 |27 |1 316 | 13.2
316-50 |3 1/8 316-50
UCF317 85 | 260 | 204 | 44 | 27 | 74 | 31 | 100 | 96 | 40 |27 | 1| ucsiz 317 | 15.2
) | .
UCngg 86 |3 1/2 | g9 | 280 | 216 | 44 30 | 76 35 | 100 | 96 | 40 |30 [tus chig % | 318 | 18.8
UCF319 95 | 200 | 228 | 59 | 30 | 94 | 35 | 121 | 103 | 41 | 30 |118| uc319 319 | 211
UCF320 UC320
a0t |4 100 | 310 | 242 | 59 | 32 | 94 | 38 | 125 | 108 | 42 |33 114l Vo0 | 320 | 253
UCF322 110 | 340 266 60 35 96 41 131 117 46 36 |138] UC322 322 35.0
UCF324 120 | 370 | 290 | 65 | 40 | 110 | 41 | 140 | 126 | 51 | 36 |138] UC324 324 | 47.2
UCF326 130 | 410 | 320 | 65 | 45 | 115 | 41 | 146 | 135 | 54 | 36 |138] UC326 326 | 64.1
UCF328 140 | 450 | 350 | 75 | 55 | 125 | 41 | 161 | 145 | 59 | 36 |138| uc3zs 328 | 90.2

<6

55T e UCFL 200 (normal-duty)
Flange Units (Oval)
TS| o SIS (3K i
WHHMANS | gart Dia. UZARAS L Bearing |Housing|, &
Bearing Unit q Dimensions (mm) Bolt Used| "y, No. |Veight
No. (in.) | (mm) a e i g 1 s ) 7 Bi n (mm) [(in.) (ke)
UCFL201 uC201
50 1@ 12 | 113 | 90 | 15 | 11 [255 | 12 | 60 |33.3 [31.0|12.7 | MO [3/8] “501_¢ | F201 | 0.44
UCFL202 UC202
5010 [5s 15 | 113 | 90 | 15 | 11 [25.5| 12 | 60 |33.3 |3L0 |12.7 |Mi0 [3/8| “C50% | F202 | 0.42
UCFL203 UC203
s05-11 |11/16 | 17 |13 [ 90 | 15 | 11 |25.5| 12 | 60 |83.3 310|127 w0 (3/8] 508 | F203 | 0.41
UCFngi‘lz 3/4 20 | 113 | 90 | 15 | 11 |25.5| 12 | 60 |33.3|31.0 127 | Mo [3/8 ”ngi‘lz F204 | 0.41
UCFL205-14 |7/8 UC205-14
382‘15 15/16 | 95 | 130 | 99 16 13 | 27 16 | 68 |35.7[34.1|14.3 M4 |1/2 382‘15 F205 | 0.61
205-16 |1 205-16
UCFL206-18 |1 1/8 UC206-18
2 06 206
s 19 [l a6 | 30 [ 148 | 17 | 18 | 13 | 31 | 16 | 80 |40.2 | 381|159 |Mi4|1/2| 206 ) F206 | 0.87
206-20 |1 1/4 206-20
UCFL207-20 |1 1/4 UC207-20
207-21 |1 5/16 207-21
20722 (13/8 | 35 [ 161 | 130 | 19 | 14 | 34 | 16 | 90 |44.4 |42.9 |17.5 | mi4 |1/2]| 20722 | F207 | 1.2
207 207
207-23 |1 7/16 207-23
UCFL208-24 |1 1/2 UC208-24
208-25 |1 9/16 | 40 | 175 | 144 | 21 | 14 | 36 | 16 | 100 |51.2 |49.2 | 19.0 | M14 |1/2| 208-25 | F208 | 1.45
208 208
UCFL209-26 |1 5/8 UC209-26
209-27 |1 11/16 209-27
20020 |1 316 45 | 188 | 148 | 22 | 15 | 38 | 19 | 108 |52.2|49.2|19.0 | M6 (5/8| 20927 | Fa09 | 181
209 209
UCFL210-30 |1 7/8 UC210-30
%18*31 115/16 50 | 197 | 157 | 22 | 15 | 40 | 19 | 115 |54.6 | 51. | 19.0 | M6 |5/8 318’31 F210 | 2.14
210-32 |2 210-32
UCFL211-32 |2 UC211-32
gﬂ—ﬂ 21/8 55 | 224 | 184 | 25 18 43 19 | 130 |58.4 [55.6 | 22.2 | M16 |5/8 %H_M F211 2.9
211-35 |2 3/16 211-35
UCFL212-36 |2 1/4 UC212-36
212 212
51538 |2 3/s | 60 [ 250 | 202 | 20 | 18 | 48 | 23 | 140 |68.7 [65.1 |25.4 |M20 |3/4| 1% .0 | F212 | 3.96
212-39 |2 7/16 212-39
UCFL%%%"” 212 | 65 | 258 | 210 | 30 | 20 | 50 | 23 | 155 | 69.7 | 65.1 | 25.4 | m20 |3/4 ch%g"*o F213 | 4.37
UCFL%}i’“ 23/4 | 70 | 265 | 216 | 31 | 20 | 54 | 23 | 160 |75.4 | 74.6 | 30.2 | M20 |3/4 chﬁ’“ F214 | 4.95
UCFL215 Uc215
inas |3 75 | 275 | 225 | 34 | 20 | 56 | 23 | 165 |78.5 77.8|33.3 | M20 [3/4| 212 o | F215 | 5.18
UCFL216 Uc216
Slos0 |31/ | 80 | 200 | 233 | 34 | 20 | 58 | 25 | 180 |83.3 |82.6|33.3 | M20 |3/4| 10 | F216 | 6.36
UCFL%{;{’Z 31/4 | g5 | 305 | 248 | 36 | 22 | 63 | 25 | 190 |87.6 |85.7 | 34.1 | M20|3/4 UC%};‘W F217 | 7.68
UCFL%}E‘% 31/2 1 90 | 320 | 265 | 40 | 23 | 68 | 25 | 205 |96.3| 96 |39.7 | m20 |3/4 UC%%E‘% F218 | 9.54
7>



A UCFL 300 (heavy-duty)
s T/ .
512 A = . }
5 Yo UCFLXO00 (medium-duty) Flange Units (Oval) _z
Flange Units (Oval) 7 ——
/ o
z /////{;-‘ ]
F F"’-"—" ™ |
22222722281, |
% = d%bl
|
2-5 P |
e Dl j |
n / 74'
Bi SR
“rd|-X b
1) R o WIRE () #
| ] 1 iy PR AR AR Shaft Dia UZARRS - g R Bearing |Housing|,
& Bearing Unit T Dimensions (mm) Bolt Used| "y, No. | Veight
( | J No. (n) [ (m) | a e i g 1 s b z Bi n_ | G [Gn.) i
/ UCFL305 UC305
6 s 25 | 150 | 13 | 16 | 13 [ 29 | 19 | 80 | 39 | 38 | 15 |Mi6 [5/8| 000 | FL305 | L1
UCFL306-18 |1 1/8 UC306-18
306 30 | 180 | 134 | 18 | 15 | 32 | 23 | 90 | 44 | 43 | 17 |wm20|3/4| 306 FL306 | 1.5
306-20 |1 1/4 306-20
s 3 oy fﬂﬂ ’/fé 2 K~ ( B3 5 = .
3 IR T A A i : ARERAT (22K) [ . . iRy UCFL307-20 |1 1/4 UC307-20
Bearing Unit —natt Dia. Dimensions (mm) Bolt Used| Ccoring [HOUSINg|y., ¢ 307-22 |1 3/8 307-22
d No. No. o 35 | 185 | 141 | 20 | 16 | 36 | 23 | 100 | 49 | 48 | 19 |wm20 |3/4 FL307 | 1.8
No. (in.) (mm) a e i g 1 s b 7 Bi n (mm) [(in.) 8 307 307
307-23 |1 7/16 307-23
UCFLX05 UCX05
UCFL308-24 11 1/2 | 4o | 200 | 158 | 23 | 17 | 40 | 23 | 112 | 56 | 52 | 19 |m20 [3/a| UC30824 | pgng | 94
X05-14 |7/8 25 | 141 | 117 | 18 | 13 | 30 | 12 | 83 |40.2 |38.1|15.9 | Mo |3/8] xo5-14 | FLX05 | 1.0 308 308
0506 |1 H0a-16 UCFngg"zg U3/4 1 45 | o30 | 177 | 25 | 18 | 44 | 25 | 125 | 60 | 57 | 22 |we2 |78 chgg—zs FL309 | 3.4
UCFL310-31 |1 15/16 UC310-31
LGBLACE HEXe6 310 50 | 240 | 187 | 28 | 19 | 48 | 25 | 140 | 67 | 61 | 22 |wm22|7/8] 310 FL310 | 4.3
X06-18 |11/16 | 50 | 155 | 130 | 19 | 14 | 34 | 16 | 95 |44.4 |a2.9|17.5 |ma|1/2] X968 | pxoe | 1.4 310732 |2 310-32
X06-19 |1 3/16 X06-19 UCFLgﬂ’” 2 55 | 250 | 198 | 30 | 20 | 52 | 25 | 150 | 71 | 66 | 25 |wm22 |8 chﬁ’?’z FL311 | 5.2
X06-20 |1 1/4 X06-20
UCFL312 Uc312
Sio36 g 1sa | 60 | 20 [ 212 | 83 | 22 | 86 | 31 | 160 | 78 | 71 | 26 |M27| 1 |z e
UCFLX07-20 |1 1/4 UCX07-20 UCFL313-40 12 1/2 | g5 | 995 | 240 | 33 | 25 | 58 | 31 | 175 | 78 | 75 | 30 |w27 | 1 | UC313~40 | 313 | 7.9
313 313
X07-22 |1 3/8 X07-22
35 | 171 | 144 | 21 | 14 | 38 | 16 | 105 |51.2 | 49.2 | 19.0 | M14 |1/2 FLXO7 | 1.9
X07 X07 UCFL314-44 \2 3/4 | 70 | 315 | 250 | 36 | 28 | 61 | 35 | 185 | 81 | 78 | 33 |ms0 [118] UC31444 | papg | 9.3
314 314
X07-23 |1 7/16 X07-23
UCFL315 Uc315
75 | 320 | 260 | 39 | 30 | e6 | 35 | 195 | 89 | s2 | 32 |m30 |11 FL315 | 10.6
315-48 |3 Bl 51548
UCFLX08-24 |1 1/2 UCX08-24 UCFL316 80 | 355 | 285 | 38 | 32 | 68 | 38 | 210 | 90 | 86 | 34 |wm33 |114| UC31E FL316 | 13.5
o8 40 | 179 | 148 | 22 | 14 | 40 | 16 | 111 |52.2 |49.2 | 19.0 | M4 |1/2 o8 FLX08 | 2.0 316-50 |3 1/8 316-50
UCFL317 85 | 370 | 300 | 44 | 32 | 74 | 38 | 220 | 100 | 96 | 40 |wm33 |114] UC3L7 FL317 | 15.2
317-52 |3 1/4 317-52
UCFLX09-26 |1 5/8 UCX09-26 UCFL%}E‘% 31/2 | 90 | 385 | 315 | 44 | 36 | 76 | 38 | 235 | 100 | 96 | 40 |wm33 |114 chig‘% FL318 | 18.0
X09-27 |1 11/16| 45 | 189 | 157 | 23 | 14 | 40 | 16 | 116 |55.6 | 51.6 | 19.0 | M4 [1/2] X0927 | prxo9 | 2.4
X09-28 |1 3/4 X09-98 UCFL319 95 | 405 | 330 | 59 | 40 | 94 | 41 | 250 | 121 | 103 | 41 |36 |138] ucsie FL319 | 22.7
X09 X09
UCFL320 UC320
100 | 440 | 360 | 59 | 40 | 94 | 44 | 270 | 125 | 108 | 42 |wm39 |11 FL320 | 27.2
320-64 |4 2 300-64
UCFLX10-31 |1 15/16 UCX10-31 UCFL322 110 | 470 | 390 | 60 | 42 | 96 | 44 | 300 | 131 | 117 | 46 |wm39 |1 12| vcsee FL322 | 34.2
X10 X10
SN R Rl g U B ] FLXIO ) 3.7 UCFL324 120 | 520 | 430 | 65 | 48 | 110 | 47 | 330 | 140 | 126 | 51 | w42 |158| vcsoa FL324 | 48.1
X10-32 |2 X10-32
UCFL326 130 | 550 | 460 | 65 | 50 | 115 | 47 | 360 | 146 | 135 | 54 | w42 |158| Uc326 FL326 | 59.5
UCFL328 140 | 600 | 500 | 75 | 60 | 125 | 51 | 400 | 161 | 145 | 59 | w45 |134| vcszs FL328 | 73.5

<8

9>



TH B
Take-up Units
(normal-duty)

-

w
WEHARE| P SR (k) Bearing |Housing| 2
. o . : : g ousing| . .
Bearing UnitPhaft Dia. Dimensions (mm) No No Weight
Ko. (in.) 0 g p q S b k e a W j 1 h Bi n (kg)
UCST204-12 | 3/4 5/8 [13/32] 2 |[11/4| 3/4 | 2 |17/32 |263/64] 3 1/2 (3 11/16| 1 1/4 | 15/16 |2 13/32| 1.220 | 0.500 | UC204-12 | ST204 1.85
UCST205-14 | 7/8 UC205-14
205-15| 15/16 | 5/8 |13/32| 2 | 11/4| 3/4 | 2 |17/32 [263/64| 3 1/2 (3 11/16] 1 1/4 | 15/16 |2 7/16 | 1. 3386 | 0.563 205-15 | S1205 1.78
205-16 | 1 205-16
UCST206-17 | 1 1/16 UC206-17
206-18 (1 1/8 206-18
206-10| 1 3/16 5/8 |13/32 |2 7/32 |1 15/32| 55/64 | 2 1/4 | 17/32 | 3 1/2 |4 1/32 |4 7/16 |1 15/32|1 3/32 | 2 3/4 | 1.500 | 0.626 908-19 | ST206 2.42
206-20| 1 1/4 206-20
UCST207-20| 1 1/4 Uc207-20
207-21|1 5/16 207-21
207-22| 1 3/8 | 5/8 | 1/2 |2 17/32|1 15/32| 55/64 (2 17/32| 17/32 | 3 1/2 |4 1/32 |5 3/32 [1 15/32|1 3/16 |3 1/16 | 1.689 | 0.689 207-22 | ST207 3.53
207-23|1 7/16 207-23
UCST208-24 |1 1/2 UC208-24
208-25|1 9/16 | 3/4 | 5/8 |3 9/32 |1 15/32(1 9/64 |3 9/32| 11/16 |4 1/64 | 4 1/2 |5 21/32) 1 5/16 |1 5/16 |3 15/32| 1937 | 0.748 508-95 | S1208 5.30
UCST209-26 | 1 5/8 UC209-26
209-27(1 11/16 | 3/4 | 5/8 |39/32|1 15/16]1 9/64 |3 9/32 | 11/16 | 41/64 |4 19/32|5 21/32|1 15/16] 1 3/8 |3 7/16 | 1.937 | 0.748 209-27 | ST209 5.30
209-28 |1 3/4 209-28
UCST210-30( 1 7/8 UC210-30
210-31| 1 15/16 | 3/4 | 5/8 |39/32|1 15/16|1 9/64 | 3 3/8 | 11/16 |4 1/64 |4 19/32| 5 7/8 |1 15/16|1 15/32(3 17/32| 2.031 | 0.748 210-31 | s1210 5.40
210-32 2 210-32
UCST211-32| 2 Uc211-32
211-34|2 1/8 1 | 3/4 |41/32(217/32| 13/8 | 33/4 |11/16 |5 1/8 | 5 3/4 |6 23/32|2 17/32| 1 1/2 |4 3/16 | 2.189 | 0.874 211-34 | sm211 9. 04
211-35|2 3/16 211-35
UCST212-36| 2 1/4 UC212-36
212-38(2 3/8 |1 1/4| 3/4 |41/32|217/32| 1 3/8 |4 1/32 |1 1/16 | 5 1/8 | 5 3/4 | 7 5/8 |2 17/32[1 21/32|4 11/16] 2.563 | 1.000 212-38 | S1212 11.0
212-39(2 7/16 212-39
UCST213-40(2 1/2 |1 1/4(13/16| 4 3/8 | 2 3/4 |1 39/64| 4 3/4 |1 1/16 |5 15/16|6 9/16 |8 13/16] 2 3/4 |1 23/32|5 13/32| 2.563 | 1.000 | UC213-40 ST213 15.5
b o 1 1A Y R~} (R . . =B
nJé{Z{dﬁﬁdhi W SMERT () Bearing |Housing iR
Bearing Unitphaft Dia. Dimensions (mm) No No Weight
No. ) =T T e s s [f [ e[ [T [T [F o] (ke)
UCT201 12 16 | 10 | 51|32 |19 |51 |12 |7 |8 | 94 | 32 | 21 | 61 | 31 |12.7| UC201 T204 | 0.75
UCT202 15 16 | 10 | 51 | 32 |19 | 51 |12 | 76 | 8 | 94 | 32 | 21 | 61 | 31 |12.7| UC202 T204 | 0.73
UCT203 17 16 | 10 | 51 | 32 |19 | 51 |12 | 76 | 89 | 94 | 32 | 21 | 61 | 31 |12.7| UC203 T204 | 0.72
UCT204 20 16 | 10 | 51 | 32 |19 | 51 |12 | 76 | 89 | 94 | 32 | 21 | 61 | 31 |12.7| UC204 T204 | 0.70
UCT205 25 16 | 10 | 51 | 32 |19 | 51 | 12 | 76 | 89 | 97 | 32 | 24 | 62 | 34 |14.3| UC205 T205 | 0.73
UCT206 30 16 | 10 | 56 | 37 | 22 | 57 | 12 | 89 | 102 | 113 | 37 | 28 | 70 |38.1|15.9| UC206 T206 1.17
UCT207 35 16 | 13 | 64 | 37 | 22 | 64 | 12 | 89 | 102 | 129 | 37 | 30 | 78 |42.9|17.5| UC207 1207 1.45
UCT208 40 19 | 16 | 83 | 49 | 29 | 83 | 16 | 102 | 114 | 144 | 49 | 33 | 88 [49.2| 19 00208 T208 | 2.11
UCT209 45 19 | 16 | 83 | 49 | 29 | 83 | 16 | 102 | 117 | 144 | 49 | 35 | 87 |49.2| 19 UC209 T209 | 2.18
UCT210 50 19 | 16 | 83 | 49 | 29 | 86 | 16 | 102 | 117 | 149 | 49 | 37 | 90 |[51.6| 19 Uc210 T210 | 2.35
UCT211 55 25 | 19 | 102 | 64 | 35 | 95 | 22 | 130 | 146 | 171 | 64 | 38 | 106 |55.6(22.2| UC211 T211 | 3.56
UCT212 60 32 | 19 [ 102 | 64 | 35 | 102 | 22 | 130 | 146 | 194 | 64 | 42 | 119 [65.1[25.4| UC212 T212 | 4.23
UCT213 65 32 | 21 [ 111 | 70 | 41 | 121 | 26 | 151 | 167 | 224 | 70 | 44 | 137 |65.1[25.4| UC213 1213 | 6.04
UCT214 70 32 | 21 [ 111 | 70 | 41 | 121 | 26 | 151 | 167 | 224 | 70 | 46 | 137 | 74.6[30.2| UC214 T214 | 6.35
UCT215 75 32 | 21 [ 111 | 70 | 41 | 121 | 26 | 151 | 167 | 232 | 70 | 48 | 140 |77.8(33.3| UC215 T215 | 6.60
UCT216 80 32 | 21 [ 111 | 70 | 41 | 121 | 26 | 165 | 184 | 235 | 70 | 51 | 140 [82.6(33.3| UC216 T216 | 7.24
UCT217 85 38 | 29 [ 124 | 73 | 48 | 157 | 30 | 173 | 198 | 260 | 73 | 54 | 162 [85.7[34.1| UC217 T217 | 10.33

<10

HERPNAE
Take-up Units

£

;H'P’ b 5 U = iﬁ /fé il S “‘?‘:T’\ =R
HREAEICS | gaps Dia, SR (k) e e
Bearing Unit q Dimensions (mm) Yo Yo Weight

No. (in.) | (mm) | o g | p q s b k e a | w j 1 i h | Bi [ n m (ke)
UCT305 UC305

305-16 |1 25 | 16| 12 |62 36| 26|65 | 12|80 |89 122] 36|26 |46 |76 |38 | 15|23 | 305-16| T305 | 1.4

305-18 |11/8 305-18
UCT306 UC306

20619 |19/26 | 30 | 18| 14|70 |41 |28 | 74 | 16 | 90 |100(137| 41 |28 |52 |85 |43 |17 |26 |50 o T306 | 1.8
UCT307-20 |1 1/4 UC307-20

385‘22 L3/8 1 35 |20 | 15|75 | 45 | 30 | 80 | 16 |100 | 111]150| 45 | 32 | 56 | 94 | 48 | 19 | 20 382‘22 7307 | 2.3

307-23 |17/16 307-23
UCngg‘M LUZ |y |22 | 17 | 83 | 50 | 32 | 89 | 18 [112] 124|162 50 | 34 | 62 100 52 | 19 | 33 chgg—m 7308 | 3.0
UCngg‘ZS L34 | 45 | 24 | 18|90 |55 | 34 | 97 | 18 |125| 138|138 55 | 38 | 68 |110] 57 | 22 | 35 chgg—zs 1309 | 4.1
UCT310-30 |1 7/8 UC310-30

318‘31 115/16 50 | 27 | 20 | 98 | 61 | 37 | 106 | 20 | 140 | 151|191 | 61 | 40 | 74 | 117| 61 | 22 | 39 318‘31 1310 | 4.9

310-32 |2 310-32
UCTgH’” 2 55 | 29 | 21 |105| 66 | 39 [115| 22 | 150 | 163|207 | 66 | 44 | 80 |127] 66 | 25 | 41 chﬁ’w 311 | 6.1
UCT312 uc312

Siaag 214 | 60|31 |23 [118]71 | 41 [123| 22 |160 178|220 | 71 |46 | 85 |135| 71 | 26 | 45 |00 | 1312 | 7.6
UCTg}g"lo 212 | 65 | 32 | 25 [116| 70 | 43 |134| 26 |170| 190|238 | 80 | 50 | 92 |146 | 75 | 30 | 45 UCg}g"lO 1313 | 9.3
UCTg}i‘“ 234 | 70 | 36 | 25 [130| 85 | 46 |140| 26 | 180|202 |252| 90 | 52 | 97 |155| 78 | 33 | 45 chﬁ“l‘l 1314 | 11.1
UCT315 75 | 36 | 25 [132| 85 | 46 |150 | 26 | 192 | 216|262 | 90 | 55 |102 | 160 | 82 | 32 | 50 | UC315 1315 13

315-48 |3 315-48
UCT316 80 | 42 | 28 [150 | 98 | 53 [ 160 | 30 | 204 | 230|282 | 102 | 60 |108|174 | 86 | 34 | 52 | UC316 1316 | 16.2

316-50 |3 1/8 316-50
UCT317 uc317

sy |3uu |85 |42 |30 |152| 98 |98 |170| 32 | 21 | 240|208 | 102| 64 | 115|183 | 96 | 40 | 56 | VN7 | 17 | 19
UCTgig‘% 312 190 |46 | 30 | 160 |106 | 57 | 175 | 32 |228 | 255|312 | 110 | 66 | 120|192 | 96 | 40 | 56 chg‘% 1318 | 21.6
UCT319 95 | 46 | 31 | 165|106 | 57 [180 | 35 |240 | 270|322 | 110 | 72 | 125|197 | 103 | 41 | 62 | UC319 1319 | 24.9
UCT320 UC320

e 100 | 48 | 32 175 115 | 59 |200 | 35 (260 | 290|345 | 120 | 75 |135|210 108 | 42 | 66 | U520 | T320 | 30.7
UCT322 110 | 52 | 38 | 185|125 | 65 |215 | 38 |285 | 320|385 | 130 | 80 |150 235 [117 | 46 | 71 | uc32e 1322 | 39.7
UCT324 120 | 60 | 42 |210 | 140 | 70 {230 | 45 |320 | 355|432 | 140 | 90 |165 |267 |126| 51 | 75 | vc324 1324 | 54.4
UCT326 130 | 65 | 45 | 220|150 | 75 |240 | 50 |350 | 385 | 465 | 150 | 100 | 180 | 285 | 135 | 54 | 81 | uc326 1326 | 69.3
UCT328 140 | 70 | 50 |230 | 160 | 80 255 | 50 |380 | 415|515 | 155 | 100 | 200 | 315 | 145 | 59 | 86 | UC328 1328 | 85.1

1))



= o
'Y 5 (5] TE
5 s 2 \\% N 2
Flang Cartridge Units e L3R
Pillow Blocks
: (High center height)
alp 1\1_
n
Bi
4
WREHMANS | o iet Dia MER (2 B B | Bearing |Housing |, ==
Bearing Unit I Dimensions (mm) Bolt Used| "y, No Weight
No. (in.) [ () [ a D e i 1 s j k g £ z | Bi [ n [ Gm [Gin.) (kg)
UCFC201 UC201
018 |12 12 {100 | 78 |81 | 10 [25.5| 12 | 5 | 7 |20.5| 62 |28.3(31.0(12.7| M10 [3/8| 501 o | Fc201 | 0.71
UCFC202 UC202 b ¢
S0 [ 15 [100 | 78 |51 | 10 |25.5 12 | 5 | 7 |20.5| 62 |28.3(31.0[12.7| Mi0 |3/8| UC202 1 Fc202 | 0.69 5
UCFC203 UC203
o0s 1 liye | 17 |100 | 78 |551] 10 |25.5 12 | 6 | 7 [20.5] 62 |28.3|31.0|12.7| M10 |3/8| UCDO8 | Fc203 | 0.68
. . TR W T
UeRG2E 12 3/4 20 100 | 78 {551 | 10 (25.5| 12 | 6 | 7 |20.5| 62 |28.3|31.0|12.7| M10 |3/8] V20112 | Feo0a | 0.6 L L I SRR (KD B # | Bearing |Housing | EE
Bearing Unit i Dimensions (mm) Bolt Used No. No. Weight
era205-14 @16 lioA051.t No. ) [ [ 7 [ & [ [ 5 [ = [ = z ¥ BT T [ (kg)
209 25 |115| 90 636 10 | 27 |12 | 6 | 7 |21 | 70 |29.734.1|14.3| M10 3/8| 209 FC205 | 0.92 S— 2 170 izt los Lao | o L s | 15 | tor | 3ol 27 luo lass| Cc201 I
205-16 |1 205-16 201-8 [1/2 ’ ’ 201-8 '
UCFC206-18 |1 1/8 UC206-18 UCPH202 UC202
1 70 | 127 4 1 1 1 101 | 310|127 | M PH202 | 0.
206 30 [125 [100 {707 ] 10 | 31 |12 | 8 | 8 | 23| 80 |32.2|38.1|15.9| m10 |3/8| 206 FC206 | 1.21 202-10 |5/8 > 0 9 0 9 3 > 0L | 310 0 13/81 " 50a-10 02 | 0.96
206-19 |1 3/16 206-19
206-20 |1 1/4 206-20
UCPHggg_H e | 17|70 [ 127 | 95 |40 |19 | 13 | 15 | 100 | 310 | 12.7 |0 |3/8 UC§8§-11 PH203 | 0.96
UCFC207-20 11;4 UC207-20
207-21 |1 5/16 207-21 " g
907-22 |13/8 | 35 |135 [110 |772.8 | 11 | 34 | 14 | 8 | 9 | 26 | 90 [36.4[42.9|17.5| M12 [7/16] 9207-22 | FC207 | 1.50 UCPHggi 12 [3/4 20 | 70 | 127 | 95 | 40 | 19 | 13 | 15 | 101 | 31.0 | 12.7 | M10 |3/8 chgi 121 pH2oa | 0.96
207 207
207-23 |1 7/16 207-23
UCPH205-14 | 7/8 UC205-14
UCFC208-24 |1 1/2 UC208-24 205-15 |15/16 205-15
20825 [19/16 | 40 [145 [120 (848 | 11 [ 36 [ 14 [ 10 | 9 | 26 |100 [41.2|49.2|19.0| M12 [7/16| 208-25 | FC208 | 1.87 9205 25 | 80 | 140 | 105 | 50 | 19 | 13 | 16 | 114 | 34.1 | 14.3 | MIO |3/8] . o PH205 ( 1.2
208 208 205-16 |1 205-16
UCFC209-26 |1 5/8 UC209-26
ggg:% %é%lﬁ 45 | 160 [ 132933 | 10 | 38 | 16 | 12 | 14 | 26 | 105 |40.2|49.2(19.0| M14 |1/2 383:5; FC209 | 2.34 UCPH206-18 |1 1/8 UC206-18
209 209 206 30 | 90 | 165 | 121 | 50 | 21 | 17 | 18 | 130 | 38.1 | 15.9 | w14 |1/2| 206 PH206 | 1.6
206-19 |1 3/16 206-19
UCFC210-30 |1 7/8 UC210-30 206-20 |1 174 206-20
210-31 |1 15/16| 50 |165 | 138 |97.6 | 10 | 40 | 16 | 12 | 14 | 28 | 110 [42.6|51.6[19.0| M14 [1/2| 210-31 | Fc210 | 2.72
210 210
UCFC211-32 |2 UC211-32 UCPH207-20 |1 1/4 UCc207-20
211-34 1218 | 55 | 185 [150 {106.1| 13 | 43 | 19 | 12 | 15 | 31 | 125 |46.4]55.6|22. 2| w16 [5/8| 211734 | pco11 | 3.66 207-21 |1 5/16 207-21
211 211 207-22 |1 3/8 35 | 95 | 167 | 127 | 60 | 21 17 18 140 | 42.9 | 17.5 | M14 |1/2 207-22 | PH207 2.0
211-35 |2 3/16 211-35 . o
UCFC212-36 |2 1/4 UC212-36 207-23 |1 7/16 207-23
313_38 p3g | 60 [195 | 160 |LB1| 17 | 48 | 19 | 12 | 60 | 36 | 135 |56.7(65.1|25.4| MI6 |5/8 %};38 FC212 | 4.58
212-39 |2 7/16 212-39 UCPH208-24 |1 1/2 UC208-24
20825 |1 9/16 | 40 | 100 | 184 [ 137 | 70 | 21 | 17 | 20 | 150 | 49.2 | 19.0 | M14 |1/2| 208-25 | PH208 | 2.7
UCFC%S"“’ 212 | 65 | 205|170 |120.0| 16 | 50 | 19 | 14 | 15 | 36 | 145 |55.7|65. 1|25. 4| M16 |5/8 UC%S"“) FC213 | 5.07 208 208
UCFC%&’“ 234 | 70 |215 | 177 151 17 | 54 | 19 | 14 | 18 | 40 | 150 |61. 4]74.6(30.2| M16 |5/8 chﬁ’“ FC214 | 6.15 UCPH209-26 |1 5/8 UC209-26
ggg_gg 1;}216 45 | 105 | 190 | 146 | 70 | 21 | 17 | 20 | 158 | 49.2 | 19.0 | M14 |1/2 383‘;; PH209 | 3.0
UCFC215 uc215 - ]
2w s 75 220 | 184 130.1| 18 | 56 | 19 | 16 | 18 | 40 | 160 |62.5|77.8(33.3| M16 [5/8| U212 | Fc215 | 6.79 g pod
UCFC216 80 | 240 | 200 [141.4| 18 | 58 | 23 | 16 | 18 | 18 | 170 |67.3|82.6|33.3| M20 |3/4| Uc216 FC216 | 8.01 BTG50 | 1 778 —_—
210-31 |1 15/16 210-31
UCFC%%‘E’Z 314 | 85 | 250|208 |147.1| 18 | 63 | 23 | 18 | 20 | 45 | 180 |69.6(85.7(34. 1| M20 |3/4 UC%‘W FC217 | 9.18 210 b | LD 206 | B3 | A0 | 23 |l 20 ) 3 fl 168 | 5lG | 19.0 (MG |5 210 SHZEG | S
210-32 |2 210-32
UCFC%%E‘% 312 | 90 | 265|220 [155.5] 22 | 68 | 23 | 18 | 20 | 50 | 190 |78.3[96.0(39.7| M20 |3/4 UC§}§‘56 FC218 | 11.3

<12 133



[ ARV

Top-based Pillow Blocks

7

[ 4
2-5 a
P B 42 D , =
R AR AR 3 ANE RS (222K 1S : i o
éearing Unit Shaf‘; Dia. Dimensions (mm) Bolt size Be;g.mg HOIL\}Z.mg Weight
No. (in.) (mm) h a e b &) g W D Bi n (mm) (kg)
UCPA201 12 [30.2| 76 | 52 | 40 | 10 | 11 | 62 | 13 |310]|12.7| w0 | UC20L PA201 | 0.56
201-8 |1/2 201-8
UCPA202 15 [30.2| 76 | 52 | 40 | 10 | 11 | 62 | 13 |31.0]|12.7| w0 | UC202 PA202 | 0.54
202-10 |5/8 202-10
UCPA203 17 |30.2| 76 | 52 | 40 | 10 | 11 | 62 | 13 |31.0|12.7 | w0 | UC203 PA203 | 0.53
203-11 |11/16 203-11
UCPA204-12 |3/4 20 [30.2] 76 | 52 | 40 | 10 | 11 | 62 | 13 [3n0|127| wmo | UC204712 ) proos | 0,51
204 204
UCPA205-14 |7/8 UC205-14
205-15 115/16 | 5o | g5 5| g4 | 56 | 45 | 10 | 12 | 72 | 13 |340|143| w0 205715 | prgos | 0. 68
205 205
205-16 |1 205-16
UCPA206-18 |1 1/8 UC206-18
206 30 [42.9| 94 | 66 | 50 | 14 | 12 | 84 | 18 381|159 | w4 206 PA206 | 0.99
206-19 |1 3/16 206-19
UCPA207-20 |1 1/4 UC207-20
207-21 |1 5/16 207-21
207-22 |1 3/8 35 | 47.6 | 110 80 55 14 13 95 20 | 42.9 | 17.5 M14 207-22 | PA207 | 1.42
207 207
207-23 |1 7/16 207-23
UCPA208-24 |1 1/2 UC208-24
208-25 |1 9/16 | 40 |49.2 | 116 | 84 | 58 | 14 | 13 | 100 | 20 |49.2|19.0 | w4 208-25 | PA208 | 1.64
208 208
UCPA209-26 |1 5/8 UC209-26
209-27 L 11/16\ 45 549 | 120 | 90 | 60 | 14 | 13 | 100 | 25 |49.2 |19.0 | w14 20927 | prong | 1.80
209-28 |1 3/4 209-28
209 209
UCPA210-30 |1 7/8 UC210-30
;18‘31 L 15/16) 50 | 575 | 130 | 94 | 64 | 16 | 14 | 116 | 25 |51.6|19.0| M6 318‘31 PA210 | 2.23
210-32 |2 210-32

Z14

QNEEFALA

Adjustable Flange Units

S-Drill
U
{4
a
— — -
iy PR AR Shiﬁ‘[}t glia &l\,ﬂéﬁﬂ‘(%*) L Bearing | Housing ﬁi
Bearing Unit 7 - Dimensions (mm) Bolt Used No. No. Weight
No. Gn.) [ (mm) a e i g 1 s b Z c Bi n (mm) [(in.) (kg)
UCFA201 Uc201
S0l i 12 | 98 | 78 | 15 | 11 |25.5| 10 | 60 [33.3| 50 [3L.0[12.7 | M8 [5/16| 50 o | FA201 | 0.47
UCFA202 1C202
20510 5/8 15 | 98 | 78 | 15 | 11 |25.5| 10 | 60 [33.3| 50 [31.0|12.7 | M8 [5/16] " 505 | FA202 | 0.47
UCFA203 UC203
so3-11 |ty | 17| 98 | 78 | 15 | 11 |255| 10 | 60 |33.3| 50 |3L.0|12.7| M8 [5/16 " o0 | | FA203 | 0.47
UCFA§83‘12 3/4 20 | 98 | 78 | 15 | 11 |25.5| 10 | 60 [33.3] 50 [31.0|12.7| M8 [5/16 chgi‘lz FA204 | 0.47
UCFA205-14 |7/8 UC205-14
382‘15 15/16 | o5 | 124 | 98 |16.0| 13 | 27 | 12 | 70 |35.7| 65 |34.1]14.3 | mi0|3/8 382‘15 FA205 | 0.68
205-16 |1 205-16
UCFA206-18 |1 1/8 UC206-18
206 206
20019 |1 3/16 | 30 | 141 |17 | 18 | 13 | 81 | 12 | 83 |40.2| 72 |38.1|15.9 M0 |3/8] 200 | FA206 | 1.0
206-20 |1 1/4 206-20
UCFA207-20 |1 1/4 UC207-20
207-21 |1 5/16 207-21
907-22 [13/8 | 35 | 155 | 130 | 19 | 14 | 34 | 14 | 96 |44.4| 82 |42.9|17.5 | w2 [7/16] 207-22 | FA207 | 1.4
207 207
207-23 |1 7/16 207-23
UCFA208-24 |1 1/2 UC208-24
20825 1 9/16 | 40 | 171 | 144 | 21 | 16 | 36 | 14 | 105 |51.2| 87 |49.2| 19 |wi2 [7/16] 208-25| FA208 | 1.7
208 208
UCFA209-26 |1 5/8 UC209-26
209-27 |1 11/16 209-27
20098 L3/ | 45 [ 179|148 | 22 | 16 | 38 | 16 | 111 |52.2| 90 |49.2| 19 |wi4 |1/2] J0TH| FA209 | 2.1
209 209
UCFA210-30 |1 7/8 UC210-30
3}8‘31 1 15/16| 50 | 189 | 157 | 22 | 16 | 40 | 16 | 116 |54.6| 94 |51.6|19.0 | w4 |1/2 318‘31 FA210 | 2.4
210-32 |2 210-32
UCFA211-32 |2 UC211-32
31}_34 21/8 | 55 | 216 | 184 | 25 | 16 | 43 | 16 | 133 |58.4| 104 |55.6|22.2 | w14 |1/2 311"34 FA211 | 3.4
211-35 |2 3/16 211-35

153



pSSESVLE

Flange Bracket Units

—— 1 @ & " . -
T e SR (X B B | boaring |Housing| ER
Bearing Unit q = Dimensions (mm) Bolt Used| 'y No. Weight

No. (in.) [ (mm) % b c D 1 s g h 3 e i z Bi n | (mm) [(in.) (kg)
UCFB201 Uc201
2018 |yp | 12 |10 62 | 52 | 52 |25.5 10 | 13 | 42 | 27 | 32 | 15 (31.8(31.0[12.7| M8 [5/16 50, g | FB201 | 0.64
UCFB202 UC202
202-10l5s | 15 |110] 62 |52 |52 |25.5/ 10 | 13 |42 |27 | 32 | 15 |31.8|3L.0[12.7| M8 |5/16[ Ho5 0| FB202 | 0.64
UCFB203 UC203
203-11|16 | 17 |110] 62 | 52 | 52 |25.5| 10 | 13 | 42 | 27 | 32 | 15 |31.8(31.0[12.7| M8 |5/16[ 5q3 ;| FB203 | 0.64
UCFngi’lz Y90 | 110 | 62 | 52 | 52 |25.5] 10 | 13 | 42 | 27 | 32 | 15 |31.8[31.0]12.7| M8 |5/16 chgi’lz FB204 | 0.64
UCFB205-14 |7/8 UC205-14
382‘15 /16 | 95 | 116 | 68 | 52 | 56 | 27 | 10 | 13 | 45 | 27 | 34 | 16 [34.7| 34 [14.3] M8 |5/16 382‘15 FB205 | 0.68
205-16|1 205-16
UCFB206-18 |1 1/8 UC206-18
206 30 | 13280 | 55 | 65 | 31 | 10 | 13 | 50 | 32 | 40 | 18 [39.2(38.1|15.9| M8 |5/16] 206 FB206 | 0.92
206-191 3/16 206-19
206-20 |2 206-20
UCFB207-20 |1 1/4 UC207-20
207-2111 5/16 207-21
207-22[1 38 | 35 [144| 90 [ 62 | 70 | 34 | 10 | 15 | 55 | 32 | 46 | 19 [44.4|42.9(17.5| M8 |5/16] 907-20| FB207 | 1.3
207 207
207-23[1 7/16 207-23
UCFB208-24 |1 1/2 UC208-24
208-25(19/16 | 40 | 164 |100 | 72 | 78 | 36 | 12 | 16 | 60 | 41 | 50 | 21 |51.2]49.2| 19 | m10 |3/8| 208-25| FB208 | 1.8
208 208
UCFB209-26 |1 5/8 UC209-26
209-27|111/16| 45 | 175|106 | 76 | 80 | 38 | 12 | 18 | 65 | 43 | 54 | 22 |52.249.2| 19 | M10 |3/8| 209-27| FB209 | 2.0
209-28 1 3/4 209-28
209 209
UCFB210-30 |1 7/8 UC210-30
318‘31 VIS8 50 | 184|114 | 82 |86 | 40 | 12 | 18 | 68 | 46 | 58 | 22 [s54.6[51.6] 19 | w10 |3/8 318‘31 FB210 | 2.3
210-322 210-32

{16

SRS

Screw Conveyor Hanger Units

o s B & P
AR S Sh;c{f]‘t 6Iia %Hﬂ\' ‘.J (K Bearing [Housing éﬁ
Bearing Unit d : Dimensions (mm) No. No. Weight

No. (n.) [ (mm) a W c h 1 D K Bi n (kg)
UCHA201 UC201
2018 |1/2 12 64 96 0 64 40 19 63/4 | 310 | 12.7 Sol-g | HA201 | 0.77
UCHA202 UC202
T 5 15 64 96 0 64 40 19 63/4 | 310 | 12.7 o310 | HA202 | 0.77
UCHA203 UC203
S e 64 96 0 64 40 19 63/4 | 310 | 12.7 S el R
UCHAggi‘lz 3/4 2 | 64 96 0 64 40 19 63/4 | 310 | 12.7 chgi—12 HA204 | 0.77
UCHA205-14 |7/8 UC205-14
382‘15 15/16 | 95 78 103 0 64 40 19 63/4 34 14.3 382“15 HA205 | 0.87
205-16 |1 205-16
UCHA206-18 |1 1/8 UC206-18
206 206
SoRo |1 5 | 20 78 103 0 64 40 19 63/4 | 38.1 | 15.9 oo g | HA206 | 0.83
206-20 |1 1/4 206-20
UCHA207-20 |1 1/4 UC207-20
207-21 |1 5/16 207-21
207-22 |1 3/8 | 35 92 116 0 70 40 19 63/4 | 42.9 | 17.5 207-22 | HA207 | 1.2
207 207
207-23 |1 3/16 207-23
UCHA208-24 |1 1/2 UC208-24
208-25 |1 9/16 | 40 96 121 2 73 40 19 63/4 | 49.2 | 19.0 208-95 | HA208 | 1.3
208 208
UCHA209-26 |1 5/8 UC209-26
209-27 |1 11/16 209-27
S0o8 |1 374" 45 | 108 136 5 82 48 21 61 49.2 19 005 | HA209 | 1.7
209 209
UCHA210-30 |1 7/8 UC210-30
3%8*31 115/16| 50 | 118 142 5 83 48 21 61 51.6 | 19.0 %%8*31 HA210 | 2.1
210-32 |2 210-32
UCHA211-32 |2 UC211-32
gi}‘34 21/8 | 55 | 126 150 7 95 60 25 | G6l1/4| 55.6 | 22.2 311‘34 HA211 | 2.8
211-35 |2 3/16 211-35
UCHA212-36 |2 1/4 UC212-36
212 212
S RGN B 173 9 102 60 28 |Gl 1/4| 65.1 | 25.4 212 g | WA212 | 3.9
212-39 |2 7/16 212-39
UCHA§}§'4° 2172 | 65 | 166 200 9.5 117 70 32 |611/2] 651 | 25.4 chig*4° HA213 | 5.8
UCHAgii’44 23/% | 70 | 166 200 9.5 117 70 32 |611/2] 746 | 30.2 UC3}3’44 HA214 | 5.9
UCHA215 uc215
215-47 |2 15/16] 75 | 166 200 9.5 117 70 32 |611/2] 77.8 | 33.3 215-47 | HA215 | 5.6
215-48 |3 215-48
175



i 22 AR T R Al 7
Ball Bearing
(with setscrews)

UC 200 (normal-duty)

Bi

2-ds

ol

o AL
n m
D
{
o B r— WRSGH | BB | =
4111/]:(1‘\] =) Shaft Djia. &bﬂ;}\lﬂ—({"*) Basic Dy?la;]ic BasiC”S;atuic ﬂ%] : hm
Bearing i Dimensions (mm) Load Rating |Load Rating| "o L
e - ) o) (ke)
(in.) | (mm) D Bi Be n m G ds
UC201 0.2
s b 12 47 31.0 16 12.7 18.3 5 M6X1. 12800 6650 | 02
UC202 0.18
e e 15 47 31.0 16 12.7 18.3 5 M6X1. 12800 6650 | 018
uczo3 17 47 31.0 16 12.7 18.3 5 MBX1 12800 6650 | 0.17
203-11  |11/16 ' : : : :
UC204-12  |3/4 0.16
20 20 47 31.0 16 12.7 18.3 5 M6X1. 12800 6650 | O-18
UC205-14 |7/8 0. 22
20515 (15/16 | o 52 34.1 17 14.3 19.8 5.5 M6X1. 14000 7880 | 920
205 0.19
205-16 |1 0. 19
UC206-18 |1 1/8 0.32
206 0.3
e 1o |l | %0 62 38. 1 19 15.9 22.2 6 M6XI1. 14500 1200 | O3
206-20 |1 1/4
UC207-20 |1 1/4 0.50
207-21 |1 5/16 0. 48
207-22 |13/8 | 35 72 42.9 20 s 25. 4 5 M8X1. 25700 15200 | 0.45
207 0. 45
207-23 |1 7/16 0. 42
UC208-24 |1 1/2 0.64
208-25 |1 9/16| 40 80 49.2 21 19 30. 2 8 MBX1. 29600 18200 | 0.6
208 0. 59
UC209-26 |1 5/§ 0.74
209-27 |1 11/16 0.71
s005s |13/ | 45 85 49.2 22 19 30. 2 8 M8X1. 31850 20800 | o 68
209 0. 65
UC210-30 |1 7/8 0.85
ars 15/16| 59 90 51.6 23 19 32.6 10 MI0X1. 35100 23200 | 078
210-32 |2 0. 71
uc211-32 |2 110
- il o 178 | 55 100 55. 6 25 92.2 33.4 10 MI0X1. 43550 20200 | 078
211-35 |2 3/16 0.93
UC212-36 |2 1/4 1.51
212 138
212 8 loas | 60 110 65. 1 27 25.4 39,7 10 M10XI1. 47800 32800 | 138
212-39 |2 7/16 127
1 o 12 | 65 120 65. 1 28 25. 4 39.7 10 M10X1. 57200 40000 %:g?
UC%E{‘M 23/4 | 79 125 74.6 29 30. 2 44.4 12 M12X1. 60800 45000 1 gg
uc215 2. 14
215-47 |2 15/16| 75 130 77.8 30 33.3 4.5 12 MI2X1. 66000 49500 | 2.17
215-48 |3 2.16
ucais 80 140 82. 6 33 33.3 49.3 12 M12X1 71500 54200 | 2.61
216-50 |3 1/8 : : : : '
chgfw BUL | g5 150 85.7 35 34.1 51.6 12 M12X1. 83200 63800 | 3.38
vz 3 V2 1 g9 160 96.0 37 39,7 56. 3 12 M12X1. 95900 71500 | 30
UC220 100 180 108 40 42 66 12 M12X1. 122000 | 92800 | 6.1

Z18

i T 22 B BR T R A 7
Ball Bearings

(with setscrews)

n m
4| D
B P R WEDH | WEE | -
img(ﬁﬁ Shaft Dia. &H-B){Tj (=K Bas)i)i: Dy?lamjic BalsﬁHStJatTic % : hi‘
Beﬁimg 7 Dimensions (mm) Load Rating |Load Rating eéli)t
] Gn) [ () D Bi Be n m G ds ) )
UCX05 25 62 38. 1 19 15.9 22 6.0 M6X1. 0 19500 11200 | 0.37
X05-16 |1 : : : - - :
UCX06
X05-19 |1 3/16 | 30 72 42.9 20 17.5 25. 6.5 M8X1. 0 25700 15200 | 0.54
X06-20 |1 1/4
UCX07-20 |1 1/4
;‘8?22 13/8 | 35 80 49.2 21 19.0 30. 8.0 M8X1. 0 29600 18200 | 0.71
X07-23 |1 7/16
UC§8§‘24 1172 | 40 85 49.2 09 19.0 30. 8.0 M8X1. 0 31800 20800 | 0.79
UCX09-27 |1 11/16
X09-28 |13/4 | 45 90 51.6 23 19.0 32. 10 M10X1. 0 35100 23200 | 0.92
X09
UCX10-31 |1 15/16
X10 50 100 55.6 25 22.2 33, 10 M10X1. 0 43500 29200 | 1.20
X10-32 |2
UCKX11
X11-32 |2
i e 110 651 27 25. 4 39. 10 M10X1. 0 47800 32800 | 1.63
X11-36 |2 1/4
ucx12
X12-36 |2
Xis38 238 | €0 120 65. 1 28 25. 4 39. 10 M10X1. 0 57200 40000 | 1.95
X12-39 |2 7/16
chg—m 21/2 | g5 125 74.6 29 30. 2 A4, 12.0 M12X1. 5 60800 45000 | 2.32
chi“l‘* 234 | 9o 130 77.8 30 33.3 44, 12.0 M12X1. 5 66000 49500 | 2.53
ucx15
X15-47 |2 15/16| 75 140 82.6 33 33.3 49, 12.0 M12X1. 5 71500 54200 | 3.06
X15-48 |3
Ucx16 80 150 85.7 35 34.1 51 12.0 M12X1. 5 83200 63800 | 3.61
X16-50 |3 1/8 - ' ' : : '
ucx17 85 160 96. 0 37 39.7 56 12.0 M12X1. 5 95900 71500 | 4.55
X17-52 |3 1/4 : ' : i : :
chg’% 312 1 g9 170 104. 0 39 42.9 61. 16.0 M14X1. 5 109000 82800 | 5.42
ucx20 100 190 117.5 43 49.2 68 18.0 M16X1. 5 133000 | 105000 | 7.6
X20-64 |4 : : : : : :
193



7 THL22 A BR 1T R Al 7

Ball Bearings
(with setscrews)

i Qi L5 A D BK T BR A 7
Ball Bearings
(with eccentric locking coller)

{20

H ds
B
G
; Y
)
i
D|d = K
o P P WA | B | © ’
%ie/fji&n: it Wi %i};:;e}i?(—)ﬁ;&(jm;)) Basic Dynamic BasicnStJatic lWeighti
d Load Rating |Load Rating L\
No. (kg) |
’ () [ D BT Bo 5 . E i N N Lo
UC305
0 6 s 25 62 38 20 15 23 6 M6X1. 22400 11500 | 0.34 — o= — Pra—p——
AT | Shaft Di NIANSNE 7 ) : ; ; L E A
UC306-18 11/18 Bearing Shaft Dia. Di 3 ( ) Basic Dynamic |Basic Static Weight
- 1mensions (mm i i
306 30 72 43 23 17 26 6 M6X1. 26500 15200 | 0.52 No. _d : : Load fcing |Load fting| (i)
306-20 |1 1/4 (in.) | (mm) D Bi Be n m i k H G ds ! :
UC307-20 |1 1/4 HC203
e a |l s 80 48 95 19 99 8 MBX1. e o | G soati e | 17| 47 437 | 16 | 17.0 | 17.0 | 9.5 | 33.3 | 13.5 | 5.0 M6X1 12800 6650 | 0.25
307
HC204-12 |3/4 0.23
chgg—m N g o - 9 n " _— _— T a 20 | 47 | 43.7| 16 | 170 | 170 | 9.5 | 33.3 | 13.5 | 5.0 MEX1 12800 6650 | 023
UC30IBE (L% | 45 [ 100 57 30 22 35 10 MI0X1. 48600 | 28900 | 1.22 e %516 0.2
508 25 | 52 | 444 | 17 | 174 | 174 | 9.5 | 38.1 | 135 | 5.0 MEX1 14000 7880 | o5
UC310-31 |1 15/16 .
310 50 110 61 32 22 39 12 M12X1. 61700 37800 1.57 205-16 |1 0.25
310-32 |2
UC311-32 |2 HC206-18 |1 1/8 0.43
311 55 120 66 34 25 41 12 MI2X1. 71500 44800 | 1.98 206 30 | 62 | 484 | 19 | 183 | 182 | 11.9 | 44.5 | 15.9 | 6.0 MSX1 19500 11200 | 0-41
206-19 |1 3/16 0. 41
Uc312 206-20 |1 1/4 0.38
o gy | €O 130 71 36 2 45 12 M12X1. 81600 51800 | 2.45
Uc313-40 |2 1/2 HC207-20 |1 1/4 5. £8
313 65 140 & 38 30 45 12 MI2X1. 93700 60400 | 3. 14 282’22 138 | a5 | 72 | 511 | 20 | 188 | 18.8 | 13.5 | 55.6 | 17.5 | 6.5 | wmsxi 25700 15200 8-2}
ch%j‘“ 23/4 | 10 150 78 40 33 45 12 ML2X1. 103600 67100 | 3.62 207-23 |1 7/16 0.58
Uc315 Hcggg—m V20 40 | 80 | 563 | 21 | 214|214 135 | 603|183 | 6.5 | wusxi 29600 18200 | .99
s s 75 160 82 42 32 50 14 M14X1. 112800 | 75700 | 4.50 i
1 5 | 80 170 86 44 34 52 14 M14X1. 123500 | 88200 | 5.2 Hcggg:gg % %516 8' 3(15
— 200 |13/ | 45 | 85 | 563 | 22 | 214 | 214|135 | 635 | 183 | 6.5 M8X1 31850 20800 | o9
209 0.85
bes |z | 8 180 96 46 40 56 16 M16X1. 133000 | 96500 | 6.63
UC318-56 |3 1/2 HC210-31 |1 15/16
318 90 190 96 48 40 56 16 M16X1. 144700 | 110600 | 7.33 210 50 | 90 | 627 | 23 | 246 | 246 | 13.5 | 69.9 | 18.3 | 6.5 M8X1 35100 23200 i'g‘ll
210-32 |2 :
Uc319 95 200 103 50 41 62 16 M16X1. 156600 | 122000 | 8.37
HC211-32 |2 1.58
UC320 211 55 | 100 | 7.4 | 25 |27.7 | 27.7 | 15,9 | 76.2 | 20.7 | 8.0 | wmiox1 43550 29200 | 1.39
s g 100 | 215 108 54 42 66 18 M16X1. 171600 | 141000 | 10.32 211-35 |2 3/16 136
HC212-36 |2 1/4 2.03
wEsze 110 | 240 117 60 46 7 18 M18X1. 205000 | 179000 | 14.2 212 60 | 110 | 77.8 | 27 | 30.9 | 30.9 | 15.9 | 84.2 | 22.3 | 8.0 | wmioxt 47800 32800 | 1.87
212-39 |2 7/16 1.76
Uc324 120 | 260 126 64 51 75 18 M18X1. 227000 | 207000 | 18.20 P T
cmg 01212 | 65 | 120 | 85.7 | 28 | 341 | 341|171 | 8 | 235 | 85 | wmioxi 57200 40000 | 2.51
UC326 130 | 280 135 68 54 81 20 M20X1. 953000 | 241000 | 22.50
HC215-47 |2 15/16
915 75 | 130 | 92.1 | 30 |37.3|37.3 | 17.1 | 102 | 235 | 85 | Mioxt 60800 45000 | 2.74
Uc328 140 | 300 145 72 59 86 20 M20X1. 274000 | 272000 | 29.4 3 I
213



7 [ HE LA MER T R A K

UK Ball Bearings

. Br———
(with tapered bore) T
. ”‘
Bi
Taper '/, :
Be;(r)ing Shattibia) Dimensions (mm) Load Rating Load Rating we(liglt
) d_(mm) D Bi Be Bi (TRL) T N N
UK205 25 52 25 17 24 4.2 14000 7850 0. 16
UK206 30 62 28 19 27 5.2 19450 11250 0.25
UK207 35 {72 30 20 30 . (& 25700 15200 0. 36
UK208 40 80 32 21 34 6.2 29600 18100 0.44
UK209 45 85 33 22 36 6.3 31850 20800 0.51
UK210 50 90 35 28 36 6.5 35100 23200 0. 56
UK211 55 100 2t 20 40 7.0 43550 29200 0.74
UK212 60 110 40 2T 47 {720 47800 32800 1. 00
UK213 65 120 42 30 47 8.5 57200 40000 1.2%
UK215 75 130 45 82 51 9.2 66000 49500 1..52
UK216 80 140 45 38 55 9.6 71500 53300 1.84
UK217 85 150 47 ) BT 10.5 83200 63800 2.34
UK218 90 160 50 37 63 11. 1 95900 71500 2.85

{22

i LB PRRVE BRI
Ball Bearings
(with locating snap ring)

SER 200 (normal-duty)

E

”y i

d
/

L~

2-ds

Bi

_Be

HhARS
Bearing
No.

L
Shaft Dia.

AMERSE (2K

Dimensions (mm)

(in.) | (mm)

Bi

Be

a

h

ds

e 3 gt
Basic Dynamic
Load Rating
(kg)

HUE At

Basic Statid

Load Rating
(kg)

ok
Weight
(kg)

SER201
201-8

2 |12

47

15.9

11.5

19.5

12.

09

1.07

4.0

4.14

2.46

52.7

5.0

M6X1. 0

1010

630

SER202
202-10

s | 1

47

31.0

15.9

11.5

19.5

12.

09

52.7

M6X1. 0

1010

630

SER203
203-11

11/16 1

47

310

15.9

L &

19.5

12:

09

52. 7

M6X1. 0

1010

630

SER204-12
204

Gl

47

S, U

15.9

11585

1985

1%

09

52.7

M6X1. 0

1010

630

SER205-14
205-15
205
205-16

/8

15/16 95

—

52

34.9

19.1

13.1

21.8

15.

57.9

M6X1. 0

1100

710

SER206-18
206
206-19
206-20

11/8

1y | 20

11/4

62

38.1

22.2

15.9

22.2

17.

02

67.7

M6X1. 0

1530

1020

SER207-20
207-22
207
207-23

11/4
13/8 35

17/16

72

42.9

23.8

17.5

25.4

18.

62

78.6

M8X1. 0

2020

1390

SER208-24
208

11/2 40

80

49. 2

27.8

19.0

30. 2

22.

62

86. 6

M8X1. 0

2280

1590

SER209-26
209-27
209-28
209

15/8
1 11/16
1y | %

85

49.2

27.8

19.0

30.2

22.

62

91.6

M8X1.0

2560

1810

SER210-30
210-31
210
210-32

17/8
1 15/16 50

2

90

51.6

28.6

19.0

32.6

22.

62

2.41

96. 5

M10X1. 0

2750

2020

SER211-32
211
211-35

2
55

23/16

100

55. 6

30. 2

287,

33.4

24.

2.41

106. 5

M10X1. 0

3400

2550

SER212-36
212
21239

2 1/4
60

27/16

110

65. 1

31.8

25.4

39.7

25.

2.41

116. 6

11.1

M10X1. 0

4100

3150

23>



H Y )
iy i O S BR A A
Ball Bearings
(with eccentric collar)
SA 200 (light-duty) CSA 200 (light-duty) SA 200G
Spherical O.D. Cylindrical O.D. Relubricatable type
Bi Bi h
) i/ 77 /J >§
n m n m
B, B
p|d k| »b| d K
H H L
\ ) iU
Be Be
o m o N W | W | . .
zH“/M,k"'j‘ Shaft Dia. M\}B}\I ‘J (2X) Basic Dynamic [Basic Static| % . hgﬂ"
Bearing 1 Dimensions (M) Load Rating |Load Rating e
Yo ) ® |
(in.) | (mm) | Be D B1 n m Bi K H G h ds !
SA%g%_8 i 12 ] 12 | 40 |19.1] 6.0 | 131 | 286|286 13.5| 5.0 | 3.6 | M6XL 9600 4600 | 0.13
SA202
o0 16 |=m 15 12 | 40 |19.1] 6.0 | 13.1]28.6|28.6|13.5| 5.0 | 3.6 | MmexL 9600 4600 | 0.12
SA203
s iilis | 17| 12 | 40 |19.1] 6.0 131|286 |28.6(13.5| 50 | 3.6 | MexL 9600 4600 | 0.10
SA%gi‘IZ 3/4 20 | 14 | 47 |21.5| 7.5 | 14.5 [ 31.0 | 33.3 | 13.5 | 5.0 | 4 M6X1. 12800 6650 0.16
SA205-14 |7/8
205 2% | 15 | 52 |21.5| 7.5 | 14 |31.0]381]135]| 5.0 | 4.3 | MexL. 14000 7880 | 0.19
205-16 |1
SA206-18 |1 1/8
206
s00-19 |13/ | 30 | 16 | 62 [23.8] 9.0 | 148357 | 445|159 | 6.0 | 5 MSX1. 19500 11200 | 0.30
206-20 |1 1/4
SA207-20 |1 1/4
38;‘22 138 | 35 | 17 | 72 |25.4| 9.5 | 15.9 [ 38.9 | 55.6 | 17.5 | 6.5 | 5.7 | wmsxL 25700 15200 | 0.45
207-23 |1 7/16
SA208-24 |1 1/2
208-25[19/16 | 40 | 18 | 80 |30.2| 11 |19.2|43.7|60.3]18.3| 6.5 | 6.2 | MsxL 29600 18200 | 0.60
208
SA209-26 |1 5/8
383’27 LI/I6| 45 | 19 | 85 |30.2] 11 |19.2 |43.7|63.5|18.3| 6.5 | 6.8 | wmsxlL 31850 20800 | 0.64
209-28 |1 3/
SA210-30 |1 7/8
210-31 1 15/16] 50 | 20 | 90 |30.2| 11 |19.2 |43.7|69.9]18.3| 6.5 | 6.5 | usxL 35100 23200 | 0.71
210
SA211-32 |2
311‘34 218 | 55 | 21 | 100 | 325 | 12 |20.5 |48.4 | 76.2|20.7| 8 | 7.2 | miox1. 43550 29200 | 0.87
211-35 |2 3/16
SA212-36 |2 1/4
212
60 | 22 | 110 | 37.2 | 13.5 |21.4 [53.1| 842|223 8 8 | MLOX1. 47800 32800 il, §
212-38 |2 3/8
212-39 |2 7/16

{24

. .
Y 10022 BR A Ak
Ball Bearings
(with setscrews)
SB 200 (light-duty) CSB 200 (light-duty) SB 200G
Spherical O.D. Cylindrical O.D. Relubricatable type
Be h .
G
2-ds !
sl - ( s o T
D - d D + d
N L J WL
n m n m
Bi Bi
o i 158 o W | B | . o
éFEMM'_l\]Ef Shaft Dia. &HBN ‘J (ﬁ/K) Basic Dynamic [Basic Static p{;’ r &
Be;rlng d Dimensions (mm) Load Rating [Load Rating e(liglt
0. A
(in) | m) | Be D Bi . m E h = m »
SB201
Shis e 12 12 40 22 6.0 16.0 4.5 3.6 M5X0. 8 9600 4600 0.10
SB202
20510 |5/8 15 12 40 22 6.0 16.0 4.5 3.6 M5X0. 8 9600 4600 0. 09
SB203
Ss (et | 12 40 ) 6.0 16.0 4.5 3.6 M5X0. 8 9600 4600 0.08
Sngi‘lz 3/4 20 14 47 25 7.0 18.0 4.5 3.9 M6X1. 0 12800 6650 | 0.12
SB205-14 |7/8
205 1 25 15 52 27 7.5 19.5 5.5 3.9 M6X1. 0 14000 7880 0.16
205-16
SB206-18 |1 1/8
206 13/16 | 39 16 62 30 8.0 22.0 6.0 5.0 M6X1. 0 19500 11200 | 0.25
206-19 |1 1/4
206-20
SB207-20 |1 1/4
207-22 |1 3/8
o ) g | B2 17 72 32 8.5 23.5 6.0 5.5 M8X1. 0 25700 15200 | 0.36
207-23
SB§8§’24 L1z | 4 18 80 34 9.0 25.0 7.0 6.0 M8X1. 0 29600 18200 | 0.45
SB209-26 |1 5/8
209-27 |1 1L/16] 45 19 85 4.2 | 102 | 310 8.2 6.3 M8X1. 0 31850 20800 | 0.56
209 13/4
209-28
SB210-30
210-31 |1 7/8
i Lol 20 90 43.5 | 10.9 32.6 9.2 6.5 M8X1. 0 35100 23200 | 0.62
210-32 |2
SB211-32
211-34 |2 55 21 100 45.3 11.8 33.5 9.8 Tl M8X1. 0 43550 29200 1.1
211 21/8
211-35 |2 3/16
SB212
b b | 2 110 53.7 | 14.9 38.8 9.8 8 M10X1. 0 47800 32800 1.3
253



R

AGRI-BEARING
SQUARE BORE WITHOUT GREASE NIPPLE

Rmax2.25

B
C B
| |
SRS
a5\
! . f
! ! I
o - _..i._ - (=) o _%_ (=) 4 ._._%_- =
5 i i
! ! !
! ! !
L 1 ! i !
1
B
TYPE1 TYPE2 TYPE3 TYPE4
. WS i
IR K MBI | BERGH | gg
R piR= Dimensions (mm) Basic Load | Basic Statie Telight
Bearing No. Type Rating Load Rating (KG)
H dl D (c B CR (KN) COR (KN)
W208PPB13 1 22.970 24. 000 80. 000 18. 00 36. 53 22.71 15. 94 0. 690
W208PPB6 1 26. 000 28. 000 80. 000 18.00 36. 53 22.71 15. 94 0. 652
W208PP6 3 26. 000 32. 000 80. 000 18. 00 36. 53 99, 7l 15. 94 0. 662
W208PPB5 1 29. 970 32. 000 80. 000 18. 00 36. 53 22.71 15. 94 0. 590
W208PPBS8 1 29. 970 32. 000 80. 000 30. 18 36. 53 22.71 15. 94 0.735
W208PP5 3 29. 970 32. 000 80. 000 18.00 36. 53 22.71 15. 94 0. 600
W208PP20 3 29. 970 32. 000 80. 000 18. 00 36. 53 22.71 15. 94 0. 681
W208PP8 3 29. 970 32. 000 80. 000 30.18 36. 53 29, 7l 15. 94 0.709
W209PPB5 1 33. 000 32. 000 85. 000 30. 18 36. 53 24. 36 17. 11 0.945
W210PP4 4 29. 970 32. 000 100. 000 30. 18 30. 18 27.50 20. 20 1. 049
W210PPB6 1 29. 970 32. 000 90. 000 30. 18 36. 53 27.50 20. 20 0.733
W210PPB4 9 29. 970 32. 000 90. 000 30. 18 30. 18 27.50 20. 20 0. 846
W211PPB3 2 38. 890 42. 000 100. 000 33. 34 33.34 33. 40 25. 10 1. 208
W211PP3 4 38. 890 42.000 100. 000 33. 34 33.34 33. 40 25. 10 1.271
W211PP5 3 38. 890 42. 000 101. 600 44. 45 44. 45 33. 40 25. 10 1. 302

<26

B g H
B B

& Bt H B

@ LA
/KB KX

o IAIRIE
o K&
/AL
@
RRRCE BEIJING
* ?dtﬁ
€ SHANGHAI
® Liff
= jh.wm
Bl e
[ ) J
e HT CQ%
Wi
® i




